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M1 ROXEMEIZLZIV. 5logz2,  2log35, 3
(1) logio4+ 2logy5 (2) logs;54—2logzV2
Ans. Ans.
(3) log,9—log,6 (4) logg3 xlogs4 Ans.
4 ROFRREME ISV,
(1) 2logax =1+1logs(x+3) (2) 2logs(x+ 1) =logs(5—x)
Ans. Ans.
(5) log, 60 + 2log, 3 —log, 135 (6) logg16
Ans. Ans.
Ans. Ans.
12 log,3=plog,5=q DLx, WOXNE%E p,q THRE. () logs(x +2) =log, x

(1) log, 45 (2) log,40

Ans. Ans.

(3) logqo12

Ans.

Ans.
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15 WOREXRLZRE IV OICHREE (7 A SHipH)
(1) loggx+logg(x—1)=1 (2) logy(x—1) +log,(x—3)<3 18 WDEZERD XK.

(1) (logs 3 +logg 3)(logs 2 + logy 2)
(BEY b)) TX_XTORNEE 2 |28 H L CEHA.

Ans. Ans.

6 HitkzRdiIuv.
(1) 510 727201, logy5=0.6990% 3 5.
Ans.

9 WRoOGREAMT.

(1) (log;x)?—4log,x+3=0

(B2 B) logyx =t&EBWTEET D & L.
Ans.

7 77 7&F&RI0.
(1) y=logsx () ¥=logix

N N

v
v

Ans.




